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	Key Business Ratios are used to identify irregularities in the status and future potential of a company.


	Name
	Formula
	Explanation

	Current Ratio (x) 
	Total Current Assets / Total Current Liabilities 
	This ratio shows the cover by current assets of short term creditors, and the higher the ratio the more assurance there is that payment of creditors can be met.

	Solvency Ratio %
	((Total Current + Deferred + Long Term Liabilities) / Tangible Net Worth) x 100 
	From this can be seen the extent to which the company is financed by creditors and debt rather than permanent finance.

The higher the ratio the more likely it is that debt (either short term or long term) will be a burden to the company. The effect is higher interest charges, lower profits and a squeeze on liquidity to the disadvantage of creditors.

	Fixed Assets to Net Worth (%) 
	(Total Fixed Assets / Tangible Net Worth)x 100 
	The proportion of net worth that consists of fixed assets will vary greatly from industry to industry, but in general terms a company is under capitalised if fixed assets exceed net worth. In this case it is possible that the company has too much debt, and it should therefore be examined with care.

If on the other hand fixed assets are much lower than net worth the company is over capitalised and is either extremely cautious or in a position to expand. thus a ratio either well in excess of the median, or well below it, means that the company should be looked at with care. 

	Current Liabilities to Net Worth (%) 
	(Total Current Liabilities / Tangible Net Worth) x100 
	This contrasts the funds that creditors are temporarily risking with a company with the funds permanently invested by the owners.

The higher the ratio the less security for creditors. Care should be exercised when selling to any company with creditors of less than one year exceeding two thirds of net worth. 

	Asset Turnover (%)
	(Turnover / Total Assets(including Intangibles)) x 100 
	This ratio measures how efficient the company's management has been in generating sales from the assets at its disposal.

The measure can vary considerably from industry to industry and should therefore be judged according to the industry norm.

	Sales to net working capital (x)
	Turnover / Net working capital * 
	This ratio indicates whether a company is overtrading (handling an excessive volume of sales in relation to working capital). Companies with substantial sales gains often reach a level where their working capital becomes strained.

Even if they maintain an adequate total investment for the volume being generated (assets to sales) that investment may be so centred in fixed assets or other non-current items that it will be difficult to continue meeting all current obligations. A ratio falling into either an extremely high or low position may indicate potential problems. 

	Assets to Sales (%)
	(Total Assets(including Intagibles) / Turnover) x 100 
	This correlates sales with the total investment that is used to generate those sales. By comparing a company's ratio with industry norms it can be be determined whether the business is overtrading or conversely, carrying more assets than needed for its sales volume. 

Abnormally low ratios can indicate overtrading which may lead to financial difficulties if not corrected. Extremely high ratios can be the result of a too conservative management or too low a level of turnover.

	Profit Margin (%)
	(Profit before Tax / Turnover) x 100 
	This reveals the profits earned per pound of sales and therefore measures the efficiency of the operation. 

This ratio is an indicator of the business'ability to withstand adverse conditions such as falling prices, rising costs or declining sales

	Shareholders' Return (%)
	(Profit before Tax / Tangible Net Worth*) x 100
	This ratio is used to analyse the ability of the company's management to realise an adequate return on the capital invested by the owners of the business. There is a tendency to look increasingly to this ratio as a final measure of profitability. 

Generally, a relationship of at least 10% is regarded as desirable for providing dividends plus funds for future growth.

	Return on assets (%)
	(Profit before Tax / Total Assets) x 100 
	This is the key indicator of profitability for a company it matches operational profits with the assets available to earn a return.

Companies using their assets efficiently will have a relative high return while less well run businesses will have a relatively low return

	Sales per Employee (000)
	Turnover / Employees 
	This gives an indication of the efficiency of the labour force. This ratio will vary considerable from industry to industry

	Profit per Employee (000)
	Profit before Tax / Employees 
	This ratio gives a guide as to how effectively the labour force is utilised, and is the best way to measure productivity of labour investment


